[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
2 0.16F
O -
§0.14f
[ o
£0.12F
0.1F
0.08F
0.06F
0.04
0.02

Ratio

1 2

10 0
TP vertr (cr%)

I TTOTTOTTTdr
Eit”TT _néwstu
Fit"TT newStu 4
Eit_TT newStu
Fit_TT_newStu p4

Efficienq ——

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

10
1.1

Ratio

=

0.9 b Ainik ; : b
%85 20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1 : " T T T
> : : : : : : :

O e S S
S : : : : : :
R A A
L S R S S I T
> : : : : : :

e e S IAE S T
o : : : : : :

3] : : : : : : :

R SIS SRS R A S Tt
[ : : : : : :

0.04
003 |- bbb
0.02F -~ Feoeeni :
0.01

Ratio
P
N

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


